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7 X 1 = 7 (t— LBWEL )

7 X 2 =114 (= Lbic)

7 X 3 =121 (L= LbXA)

7 X 4 =128 (kW LHBL)

7 X 5 =135 (kH LbIT)

7 X 6 =142 (X~ LbBAL)

7 X 7 =149 (£t LbLbH)

7 X 8 = |56 (/)L LbiF)

7 X 9 =163 (L LB)
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5X1 = b5 j (fL—2% 5 )
5X2=5+5 :10j+5 (L~ 10)
5X3=5+5+5 =15 5 (H= 15)
5X4=54+5+5+5 =20 TS5 (FHM 20)
5X5=5+5+5+5+5 =25 TS5 (HE 25)
5X6=5+5+5+5+5+5 =30 TS5 (HAK 30)
5X7=5+5+5+5+5+5+5 =35 TS5 (it 35)
5X8=5+5+5+5+5+5+5+5 =40 TS (HJN 40)
5X9=5+5+5+5+5+5+5+5+5 =45 TS (HS 4 5)

DT LEN 1395 SxdE FRL NIbhnd B> SET,




